— No0.384-20-1 —
No.384-20-1 ( ) ( g )

WOFHEZ LS, (1795 45)

W) 5+ = @) +-- = (3) &+ L2 =
(4)%_%_ (5)%+1—71= (G)i—éju%:
™) 15+ 95 = ® 5+ 16 = (0 -1
(10) 2 - 57 = any L& g Lo Lo
(13) >+ 55 = (14) 3 x 2 = (15) -2 x 42 =
(16)%+1—72: (17)1—27% (18)%7%
(19) 55+ (20) 213

— 13th-note —



~ No.384-20-1 —
No.384-20-1

WOFHEZ LS, (1795 45)

) Al5 i’_z @i-t_ L
OR R
D5t w T g §) T+ 3 %
(10) 2 - 5r = % (1) T x = = %
(13) § + 55 % (14>§x15—2:;—;
(16)%+%:£ (17)%+%:%
19 35+ Z_g (20) o = 12 = i;

— 13th-note —



— No0.384-20-2 —
No.384-20-2 ( ) ( g )

WOFHEZ LS, (1795 45)

CEE R S @ 5+ d -
(4) 50+ 4= (5) =+ 4= = 6) =+ =
(M) 5+ 95 = (8) 50 + 15 = 9) 10+ = =
(10)%X%: (11)1—71—%= (12)%x%:
(13) 5 x 2 = (14) 2 - = (15) 2 x L =
(16) &+ 55 = (ar) 2« 8 (18) 5=+ 12 =
(M%X% (20)24—1+%:

— 13th-note —



~ No.384-20-2 —
No.384-20-2

WOFHEZ LS, (1795 45)

mi+ie g ®L-2-
@ 5= % ) 2+ L i_z
R L 1 103
(10)%X%: % (11)1_71_%: %
(13)%x%_§—2 g 2 - L %

(16)%+%:% (17)%2X%:i)—3
(19)%X% % (20)24—1+%—%

— 13th-note —



— No.384-20-3 —
No.384-20-3

WOFHEZ LS, (1795 45)

O i @ 2T =
@ 5+ = () 2 -2 =
(M) 5 x5 = 3 4L -1 _
(10) 35+ 5 = any -2 -
13) G+ 5= (14) L+ T =
(16) 15 x 12 = an L _ T _
(19) 45 + 55 = (0 5 -3 =

— 13th-note —

11 16
) 5 * 1

(12) L x 8=

)



— No.384-20-3 —
No.384-20-3

WOFHEZ LS, (1795 45)

1) 4 x g = 2 @ 2T = 1_:5
@) g+ = ?—; HL-2- 2
(1) 0 x T - % O T
LRt S A
(13)%4—%:;—; (14)1_75_1_70:%
(16) 15 x 12 = ? an 4L T — 3_35
(a9) % + 2 — % ey 8- =

— 13th-note —

L IR S
A
P 127 ;
8
4,13 _ S
DT 13
8
116 _ S
) 5 > 17 3
3
5,7 31
(15)§+E_ 18
65
20 13 _ 29
(18) X 3 14



— No0.384-20-4 —
No.384-20-4 ( ) ( g )

WOFHEZ LS, (1795 45)

Wy 7= (L5 @189
@) G+ 15 = (5) 3 x L= © SxL-
M ¢+ = ®) 1 +o 9) ++ 15 =
N R in
(13) & - 45 = (14 2+ 2 = (15) 2L x 1L =
(16)%+%: (17)%+%: (18)2%+%:
(19)%+1%= (20)12—5+%:

— 13th-note —



— No.384-20-4 -
No.384-20-4

WOFHEZ LS, (1795 45)

O @ L-2-
@) §+ 15 = i—; (5) 5 x = %
<7>%—§:% ® 843 *;’—I
RS LS
(13)%—1—78—% (g L0 5 %
R S UL S
(19) %+ 4= = % (20) 2 + oo = %

— 13th-note —

08B
o 26,9 18
11 8 11
1
6 1+
(6) - X 12 = 14
I 4
DT
9
3 21
21 17 1
3 1
(18) 2—0+E— 30



— No0.384-20-5 —
No.384-20-5 ( ) ( g )

WOFHEZ LS, (1795 45)

0 13~ 15 = () 45+ 5 = (8) o + 5 =
(4)%X1—71: (5)2%+%: ()%T%:
(M 6+ 5 = ®) = +15 9) -+ 75 =
10) 5+ 35 = (1) T4 L= (12) xS

(13)%—#%— (14)110><%: (15)%_ﬁ:
(16) 15 + 35 = (17) o x 22 = (1 B85 T
(19) 55 x = = (20) 24—

— 13th-note —



— No.384-20-5 -
No.384-20-5

WOFHEZ LS, (1795 45)

U o L+i- 2
(1) 2L L= % () o+ = 2—(1)
(10)%+1%= % (11)1—70+%: %
(13) 5+ 35 = % (a) 2 x4 = %
R A ]

— 13th-note —

OO S W)

1,1 10
(3)ﬁ+§_ 63

12 7 18 34

5,1 17
(9)34’@ 36

9
3 6

57 13

(18) 95 > 37 = 99



— No0.384-20-6 —
No.384-20-6 ( ) ( g )

WOFHEZ LS, (1795 45)

(1) 55+ %= @ 1T - ® L1
TS S 08 b
M 5+ = @ Ly L @) Ix15
(10)%+1—12: (11)%—% (12)%+%
(13) o+ 3 = (14) + - o = (5 2 -2 _
(16)%X§—(1) (17)%—%2 (18)%_ﬁ:
(19)%+1i‘5= (20)%_%:

— 13th-note —



— No0.384-20-6 —
No.384-20-6 ( ) ( g )

WOFHEZ LS, (1795 45)

WEtlo o OF-fe gy Wdd- g
<4>%+2—21—% <5>1—52—%:3—56 (6>%_%:%
(7)%+1_56:% “”%*%:% (9)%><12_5:22_1
g wi-d-p @i B
WheieE wid g o RRe g
(16) S x o = 421? an 2+ 2= % ag) 4 - L = ‘23_;
09 5+ 5= 13 ey B3 2

— 13th-note —



— No0.384-20-7 —
No.384-20-7 ( ) ( g )

WOFHEZ LS, (1795 45)

W 2= @) g +5= (3 & -3 =
(4)%—1—25: (5)%+% (6)% %

M 5+ = g Lx 18 L 1_
(10)%_%: (11)%><;—I (12)%x%:
(13)%X%: (14)1—§><%= (15)%_ﬁ:
(16) 55 = 55 = (17) § + 45 = (as) B+ 2 =
(19) £ -2 = (o) 2 -1

— 13th-note —



— No.384-20-7 -
No.384-20-7

WOFHEZ LS, (1795 45)

mE+t- 2 0 5+3- 1g
wL-z- 2T O ]
MR g @il
(13)%x%: % (14)1_58X%: 3

19) 45 -5 = 39 (10 5+ 45 = %
a9 -2 5 R ]

— 13th-note —

) ( 4y )
6 3 _ 9
B 7117 14
8,1 3
13 7 12 26
11 1 48
O 7757 35
1
6 1+
(12) & x 75 = 3

13,2 17
(18) T4 + 5 = ¥



— No0.384-20-8 —
No.384-20-8 ( ) ( g )

WOFHEZ LS, (1795 45)

51 _ 9 .16 _ 19 _
W §-35= (@) 15 7 91 (3) = % 5
6 5 _ 6 6 _ o1 _
) = x5 = ) g++= ©) 70~ 14~
31 _ 1n 1 4
(030 =20 = ® 18 %7 O 51— =
11 7. 13 9 7 _
(19 35 =20 = (D) &+ 13 (12) 55 ~ 6
18 11 _ SR 5.7 _
13) 3% 13 = (14) 98 ~ 12 (15) 5 % 59
3 .5 _ 3,10 _ 7,09 _
(16) 73 97 = U 7+ = (18) &+ 10
21 5 _ 12 11 _
(19) 17 ¥ g = (20) 97 x5 =

— 13th-note —



~ No.384-20-8 —
No.384-20-8

WOFHEZ LS, (1795 45)

mS-L- 2T (2)19—4+%=§—;
() 2 x 55 = % (5) &+ = ;—g

D wm g g 1Ly 12 %
S N
(13)%X%: % (14)%_%: %
(16) B+ 5 - 110 an ko0 2
(19) 2L x 5 % (0) 12 11— 2

— 13th-note —

129
(8) = x5 =
7 1
©) 40~ 11

ﬁj\



— No0.384-20-9 —
No.384-20-9 ( ) ( g )

WOFHEZ LS, (1795 45)

(1) 15 * 19 = @) &+ = (3) o+ 16 =
@) & -5 = ) S x L= © L1
(M 55+ 15 = ORSRE 9 L 13
(10) 44+ 23 = (1) S x4 = (12) L+
(13) > - <t = (14) 2+ = (15) 10 x & =

16) = 55 (7) % 5 = (18) 2+ 2 =
(19) - %= (20) 5T =

— 13th-note —



No.384-20-9

WOFHEZ LS, (1795 45)

56

(1) 42
@ L-2 -
(7) %+1_56_
(10) 44+ 23 =
(13) %_1;45

(16) %_;_(7):
(a9) I-I-

57

181

80

~ No.384-20-9 -

(%%rgzé%

<a%w%:§%
@w%_%zé%

ﬂn%wﬁ:%g
L5 55

1
10
(20> %_ ! —1

— 13th-note —

47

20 16 30

3 7 21 9
<ww%+%:_g
(15) 10x 2 = 475
(18) 2 + 3 _ 31

)



— No.384-20-10 —
No.384-20-10 ( ) ( g )

WOFHEZ LS, (1795 45)

(1)%—1—142 (2)%+%: (3)%+%:
W 35+ 1 = (5) 18 x 1L © 2 x L
(M) 5 +31 = (8) o + 1 = (9) ST+ L~
(10)%X%: (11)1—72—%= (12)%x%:
(13) - 17 (14) 2+ = (15) o= x & =
(16)15—2+%: (17)%—1—102 (18)%+%
(19) 55 + 5 = (0 2+ 1

— 13th-note —



— No.384-20-10 -
No.384-20-10

WOFHEZ LS, (1795 45)

M) 714 = 1—14 () 1345 - 1_94
@) 55+ 1z = 23 (5) 18 x AL _ %
R R B AR
(10) + x ¥ = 2 (11) -+ AL _ 14
69 27 1278 33
(13)%_%: 2_11 (14)1—52+%: 2_52
© 553 Miog= 5
Wit gy it g

— 13th-note —

S B G SR

) L2 x & = %
(9 2L+ = %
(12) 2L x 20 = 12_5
(15) o= x 2 = %
(18)%+% 2_}1



